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SAAN—20O ATM A > X —7 I 4 AT loopback diagnostic AN > RZFERTHE, 1 X —
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BBLET, FATMA 2V EZ—TIAADIL—TNY VEHRZSRIBDICE. CZ2IUvILT
. "Special Serial Line Tests; OIEETFAMEMICAYZO—I)LLET,
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E Tx=EEA UV ER—T I ABLVPRE=REBAVE—TIMA,
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VO V—AEULTRETDICE, X412 41232 =T T4 AKET. ATM Dclock internal %€ &
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Bi1
AV B=TIARTN—7NY UM ERET DI

LT-7507b

It 7507b# show running-configg
Bui | di ng configuration...




Current configuration:

!

version 12.0

!

hostname 1t-7507b

!

i p subnet-zero

no i p domai n-1 ookup

!
nterface ATML/ O
no i p address
no ip directed-broadcast
no i p nroute-cache
no atmil m -keepalive

nterface ATML/ 0.1 nul ti point
i p address 10.1.1.2 255.255.255.0
no ip directed-broadcast

pvc 0/ 85

protocol ip 10.1.1.1
encapsul ati on aal 5snap

|

ip classless

no ip http server

|

line con O

transport input none

line aux 0

line vty 0 4

| ogi n

!

end

|t-7507b# show interface atm 1/0
ATML/ 0 is up, line protocol is up
Hardware is cxBus ATM
MIU 4470 bytes, sub MIU 4470, BW 155520 Kbit, DLY 80 usec
reliability 255/255, txload 1/255, rxload 1/255
Encapsul ati on ATM 1loopback not set
Keepal i ve not supported
Encapsul ati on(s): AAL5, PVC node
256 TX buffers, 256 RX buffers,
2048 maxi mum active VCs, 1024 VCs per VP, 1 current VCCs
VC idl e disconnect time: 300 seconds
Last input 00:01:55, output 00:01:55, output hang never
Last clearing of "show interface" counters never
Queueing strategy: fifo
Cut put queue 0/40, O drops; input queue 0/75, O drops
5 mnute input rate 0 bits/sec, 0 packets/sec
5 mnute output rate O bits/sec, 0 packets/sec
163861 packets input, 3164940 bytes, 0 no buffer
Recei ved 0 broadcasts, O runts, O giants, O throttles
33 input errors, 33 CRC, O frane, O overrun, O ignored, O abort
144191 packets output, 2138298 bytes, 0 underruns
O output errors, O collisions, O interface resets
0 output buffer failures, O output buffers swapped out

F:IN—"TTNYODOXN=-AL%ZHATSId, P/ICTCATM L ZBIEETEDLERLET
o W=TNYINFETNTVEVWEESE., ChsotEILGEIL—TNvochFEEA, £5—F
DIL—2Z 1t-7200b T, AIMA 2V R—TIA A& YYREATIULET,



| t-7507b#debug atm packet interface
al/0.1 vc 0/85
ATM packet s debugging is on
Di spl ayi ng packets on interface ATML/O VPI 0, VCl 85 only

| t-7507b#ping

Protocol [ip]:

Target |P address: 10.1.1.1

Repeat count [5]: 2

Dat agram si ze [ 100]:

Ti meout in seconds [2]:

Ext ended conmands [n]:

Sweep range of sizes [n]:

Type escape sequence to abort.

Sendi ng 2, 100-byte ICWP Echos to 10.1.1.1, timeout is 2 seconds:

ping A KBL, ATM FNRNY TR NS T4 Y IOKFREBEETITE, Eo2TBVWCELERLET,

iwld: ATM1/0.1(0):
VCD: 0x5 VPI: 0x0 VCl: 0x55 DM 0x100 SAP: AAAA CTL: 03 QUI : 000000
TYPE: 0800 Lengt h: 0x70
iwld: 4500 0064 001C 0000 FFO1 B778 0A01 0102 0AO1 0101 0800 9994
OE58 068B 0000
lwld: 0000 2D42 A290 ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD
ABCD ABCD ABCD
lwld: ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD
ABCD ABCD ABCD
iwld: ABCD ABCD ABCD ABCD ABCD
1wld:
ilwld: ATM1/0.1(0):
VCD: 0x5 VPI: 0x0 VCl: 0x55 DM 0x100 SAP: AAAA CTL: 03 QUI : 000000
TYPE: 0800 Lengt h: 0x70
iwld: 4500 0064 001D 0000 FFO1 B777 0A01 0102 0AO1 0101 0800 91C3
0OE59 068B 0000
lwld: 0000 2D42 AA60 ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD
ABCD ABCD ABCD
lwld: ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD
ABCD ABCD ABCD
iwld: ABCD ABCD ABCD ABCD ABCD
1wld:
Success rate is 0 percent (0/2)

CCTN—7NNY oM %ZEBIML., showinterface ZAL T, V=7 /XY OFBREEIhTLVS
cEBRRALET,

| t-7507b#configure terminal
Enter configurati on conmands, one per line. End with CNTL/Z.
I t-7507b(config)#int al/0
I t-7507b(config-if)#loopback diagnostic
I t-7507b(config-if)#atm clock internal

¥ : loopbackAN > Rk, Y7 AV EZ—TIAATRBLASN VAV R—TIAATRET D&
ENHYUERT,

It-7507b# show interface al/0
ATML/ O is up, line protocol is up
Hardware i s cxBus ATM
MIU 4470 bytes, sub MIU 4470, BW 155520 Kbit, DLY 80 usec,



reliability 255/255, txload 1/255, rxload 1/255

Encapsul ati on ATM 1loopback set

Keepal i ve not supported

Encapsul ation(s): AAL5, PVC node

256 TX buffers, 256 RX buffers,

2048 maxi mum active VCs, 1024 VCs per VP, 1 current VCCs
VC idle disconnect tinme: 300 seconds

Last input 00:03:16, output 00:03:16, output hang never
Last clearing of "show interface" counters never
Queueing strategy: fifo

Cut put queue 0/40, O drops; input queue 0/75, O drops

5 mnute input rate 0 bits/sec, 0 packets/sec

5 mnute output rate 0 bits/sec, 0 packets/sec

163861 packets input, 3164940 bytes, 0 no buffer

Recei ved 0 broadcasts, O runts, O giants, O throttles
33 input errors, 33 CRC, O frane, O overrun, O ignored, O abort
144191 packets output, 2138298 bytes, 0 underruns

0 output errors, O collisions, 1 interface resets

0 output buffer failures, 0 output buffers swapped out

ping FRBMLETH, ATMFNRY TR, RFT1YIHFEBEHh (0), R2TLKB (1) &k
ZRULEY,

I t-7507b#ping
Protocol [ip]:
Target |P address: 10.1.1.1
Repeat count [5]: 2
Dat agr am si ze [ 100] :
Ti meout in seconds [2]:
Ext ended commands [n]:
Sweep range of sizes [n]:
Type escape sequence to abort.
Sending 2, 100-byte |ICWP Echos to 10.1.1.1, tinmeout is 2 seconds:

iwld: ATM1/0.1(O):

VCD: 0x5 VPI : 0x0 VCI : 0x55 DM 0x100 SAP: AAAA CTL: 03 QU : 000000
TYPE: 0800 Lengt h: 0x70

lwld: 4500 0064 001A 0000 FFO1 B77A 0AO1 0102 OAO1 0101 0800 119A
13A2 07C5 0000

lwld: 0000 2D41 2408 ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD
ABCD ABCD ABCD

lwld: ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD
ABCD ABCD ABCD

iwld: ABCD ABCD ABCD ABCD ABCD

1wld:

iwld: ATM1/0.1(I):

VCD: 0x5 VPI : 0x0 VCI : 0x55 Type: 0xO SAP: AAAA CTL: 03 QU : 000000

TYPE: 0800 Lengt h: 0x70

lwld: 4500 0064 001A 0000 0101 B57B 0AO1 0102 OAO1 0101 0800 119A
13A2 07C5 0000

lwld: 0000 2D41 2408 ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD
ABCD ABCD ABCD

lwld: ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD
ABCD ABCD ABCD

iwld: ABCD ABCD ABCD ABCD ABCD

1wld:

iwld: ATM1/0.1(0):

VCD: 0x5 VPI : 0x0 VCI : 0x55 DM 0x100 SAP: AAAA CTL: 03 QU : 000000

TYPE: 0800 Lengt h: 0x70

lwld: 4500 0064 001B 0000 FFO1 B779 0OAO1 0102 OAO1 0101 0800 09C9
13A3 07C5 0000

lwld: 0000 2D41 2BD8 ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD



ABCD ABCD ABCD

lwld: ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD
ABCD ABCD ABCD

1wld: ABCD ABCD ABCD ABCD ABCD

lwld:

lwld: ATML/ 0. 1(1):

VCD: 0x5 VPI: 0x0 VCI: 0x55 Type: 0xO SAP: AAAA CTL: 03 QUI : 000000
TYPE: 0800 Lengt h: 0x70

lwld: 4500 0064 001B 0000 0101 B57A 0OAO1 0102 0OAO1 0101 0800 09C9
13A3 07C5 0000

lwld: 0000 2D41 2BD8 ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD
ABCD ABCD ABCD

lwld: ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD
ABCD ABCD ABCD

1wld: ABCD ABCD ABCD ABCD ABCD

lwld:

Success rate is 0 percent (0/2)

LW—=71\vy D EfR

SADINL—BFDATM AR —7 I A AT loopback line AN REFEATRE, BENT T4V
IONZRY RD—=DIZ1EVNIBRENET, UTOR 2 &46]2 #8BL TS EEL,
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| t-7200b# show running-configg
Bui | di ng configuration..

Current configuration:

|

version 12.0

service tinmestanps debug uptine
service tinmestanps | og uptine
no service password-encryption
|

hostname 1t-7200b

|

nterface ATM2/0

no i p address
no ip directed-broadcast
no atmilm-keepalive

nterface ATM2/ 0.1 nul ti poi nt

i p address 10.1.1.1 255.255.255.0
no ip directed-broadcast

pvc 0/ 85

protocol ip 10.1.1.2
encapsul ati on aal 5snap




|
!
ip classless
no ip http server
|
line con O
transport
line aux 0
line vty 0 4
| ogi n
|

i nput none

end

AVE—TIAATIL—TNY VEREREITIHEIC

| t-7200b# show interface atm 2/0
ATM2/0 is up, line protoco
Hardware is Tl 1570 ATM
MIU 4470 bytes, sub MIU 4470, BW 155520 Kbit, DLY 80 usec,
reliability 255/255, txload 1/255, rxload 1/255
Encapsul ati on ATM 1loopback not set
Keepal i ve not supported
Encapsul ation(s): AAL5, PVC node
2048 maxi num active VCs, 1024 VCs per VP, 1 current VCCs
VC idl e disconnect tinme: 300 seconds

is up

Last input 00:00: 43,

out put 00: 00: 43, output hang never

Last clearing of

"show i nterface"

counters never

Queueing strategy: fifo
Qut put queue 0/40, 0O drops;

i nput queue 0/75, 0 drops

5 mnute input
5 m nute out put

rate 0 bits/sec
rate 0 bits/sec

0 packets/sec
0 packets/sec

94912 packets input,

1637823 bytes, 0 no buffer

Recei ved 0 broadcasts, 0O

runts, O giants, O throttles

O input errors, 0 CRC
102893 packets out put,

0 frame, 0 overrun,

0 ignored, O abort

2042225 bytes,

0 underruns

0 output errors,

0 collisions, 3 interface resets

0 output buffer failures,

0 output buffers swapped out

X ATMNATY ROFNNY TEF>2 T, IL—2U1-7507bH 5 )L —ZR1t-7200blCpingLE T, T AN
& (HZRADIL—F1NY U ZHBIBRL = ) 7500 A S BERITEND ENERTEETT, IL—TN

YOEMFIZEKY) Telco DRY RD—IONEEICEHELTVWRIAESHZERTES LD, cn
BEOEHETY,

| t-7507b#debug atm packet
ATM packet s debugging is on
Di spl aying all ATM packets
| t-7507b#debug at m packet sh debug

I't-7507b#ping 10.1.1.1

Type escape sequence to abort.

Sending 1, 100-byte |ICWP Echos to 10.1.1.1,
!

Success rate is 100 percent (1/1), round-trip mn/avg/max = 1/2/4 ns

ping ARHBL, ATMFNY TR RS T 1Y IO EFEh, R2TLKBLERLET,

tinmeout is 2 seconds:

00: 45: 14: ATM1/0.1(0):
VCD: Ox1 VPI: 0x0 VCl: 0x55 DM 0x100 SAP: AAAA CTL: 03 QU : 000000



TYPE: 0800 Lengt h: 0x70

00: 45: 14: 4500 0064 0005 0000 FFO1 B78F OAO1 0102 OAO1 0101 0800 028C
02D4 0C51 0000

00: 45: 14: 0000 0029 6C70 ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD
ABCD ABCD ABCD

00: 45: 14: ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD
ABCD ABCD ABCD

00: 45: 14: ABCD ABCD ABCD ABCD ABCD

00: 45: 14:

00: 45: 14: ATM1/0.1(I):

VCD: 0x1 VPI: 0x0 VCl:0x55 Type: 0xO SAP: AAAA CTL: 03 QUI : 000000

TYPE: 0800 Lengt h: 0x70

00: 45: 14: 4500 0064 0005 0000 FEO1 B88F OAO1 0101 OAO1 0102 0000 OA8C
02D4 0C51 0000

00: 45: 14: 0000 0029 6C70 ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD
ABCD ABCD ABCD

00: 45: 14: ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD ABCD
ABCD ABCD ABCD

00: 45: 14: ABCD ABCD ABCD ABCD ABCD

Success rate is 100 percent (1/1)

W—2 1t-7200b D ATM 1 2 B—T I A ATIL—T/NY VERERELE T,

| t-7200b#configure terminal
Enter configuration commands, one per line. End with CNTL/Z
I t-7200b(config)#int a2/0
I't-7200b(config-if)#loopback line
I't-7200b(config-if)#rz
| t-7200b#config show interface a2/0
ATM2/0 is up, line protocol is up
Hardware is Tl 1570 ATM
MIU 4470 bytes, sub MIU 4470, BW 155520 Kbit, DLY 80 usec,
reliability 255/255, txload 1/255, rxload 1/255
Encapsul ati on ATM loopback set
Keepal i ve not supported
Encapsul ation(s): AAL5, PVC node
2048 maxi num active VCs, 1024 VCs per VP, 1 current VCCs
VC idl e disconnect tinme: 300 seconds
Last input 00:02:45, output 00:02: 45, output hang never
Last clearing of "show interface" counters never
Queueing strategy: fifo
Qut put queue 0/40, 0O drops; input queue 0/75, O drops
5 mnute input rate 0 bits/sec, 0 packets/sec
5 mnute output rate 0 bits/sec, 0 packets/sec
94917 packets input, 1638383 bytes, 0 no buffer
Recei ved 0 broadcasts, O runts, 0 giants, O throttles
O input errors, 0 CRC, 0 frame, O overrun, O ignored, O abort
102898 packets output, 2042785 bytes, 0O underruns
0 output errors, 0 collisions, 5 interface resets
0 output buffer failures, 0 output buffers swapped out

X JL—ZIt-7507b »* S ping ZRITLET. FREY ping FXBLETHN, NT 71V 0K
XY RND=IDB8)IL—Zt-7507b ICAWFTIL—FTNY O&ch, AIMFNYITTRRINZ 7149 OH
BEEN (0), R2TLK3 () ZENRENET,

It-7507b#ping 10.1.1.1

Type escape sequence to abort.
Sendi ng 2, 100-byte |ICWP Echos to 10.1.1.1, timeout is 2 seconds:



Success rate is 0 percent (0/2)

00: 52: 00: ATM1/0.1(0):
VCD: 0x1 VPI: 0x0 VCI: 0x55
TYPE: 0800 Lengt h: 0x70

00: 52: 00: 4500 0064 OOOF
21D 0009 0000

00: 52: 00: 0000 002F 9DBO
ABCD ABCD ABCD

00: 52: 00: ABCD ABCD ABCD
ABCD ABCD ABCD

00: 52: 00: ABCD ABCD ABCD
00: 52: 00:

00:52: 00: ATM1/0.1(I):
VCD: 0x1 VPI: 0x0 VCI: 0x55
TYPE: 0800 Lengt h: 0x70

00: 52: 00: 4500 0064 OOOF
121D 0009 0000

00: 52: 00: 0000 002F 9DBO
ABCD ABCD ABCD

00: 52: 00: ABCD ABCD ABCD
ABCD ABCD ABCD

00: 52: 00: ABCD ABCD ABCD
00: 52: 00:

00:52: 02: ATM1/0.1(0):
VCD: 0x1 VPI: 0x0 VCI: 0x55
TYPE: 0800 Lengt h: 0x70

00: 52: 02: 4500 0064 0010
121E 0009 0000

00: 52: 02: 0000 002F A580
ABCD ABCD ABCD

00: 52: 02: ABCD ABCD ABCD
ABCD ABCD ABCD

00: 52: 02: ABCD ABCD ABCD
00: 52: 02:

00:52: 02: ATM1/0.1(I):
VCD: 0x1 VPI: 0x0 VCI: 0x55
TYPE: 0800 Lengt h: 0x70

00: 52: 02: 4500 0064 0010
121E 0009 0000

00: 52: 02: 0000 002F A580
ABCD ABCD ABCD

00: 52: 02: ABCD ABCD ABCD
ABCD ABCD ABCD

00: 52: 02: ABCD ABCD ABCD

DM 0x100 SAP: AAAA CTL: 03
0000 FFO1 B785 0A01 0102
ABCD ABCD ABCD ABCD ABCD
ABCD ABCD ABCD ABCD ABCD

ABCD ABCD

Type: 0x0 SAP: AAAA CTL: 03
0000 0101 B586 0OAO01 0102
ABCD ABCD ABCD ABCD ABCD
ABCD ABCD ABCD ABCD ABCD

ABCD ABCD

DM 0x100 SAP: AAAA CTL: 03

0000 FFO1 B784 0A01 0102

ABCD ABCD ABCD ABCD ABCD

ABCD ABCD ABCD ABCD ABCD

ABCD ABCD

Type: OxO SAP: AAAA CTL: 03

0000 0101 B585 0A01 0102

ABCD ABCD ABCD ABCD ABCD
ABCD ABCD ABCD ABCD ABCD

ABCD ABCD

Success rate is 0 percent (0/2)

QU : 000000

0AO1 0101 0800

ABCD ABCD ABCD

ABCD ABCD ABCD

QU : 000000

0AO1 0101 0800

ABCD ABCD ABCD

ABCD ABCD ABCD

QU : 000000

0AO1 0101 0800

ABCD ABCD ABCD

ABCD ABCD ABCD

QU : 000000

0AO1 0101 0800

ABCD ABCD ABCD

ABCD ABCD ABCD

CE44 1

ABCD

ABCD

CE44

ABCD

ABCD

C673

ABCD

ABCD

C673

ABCD

ABCD

A i

W=TNY o, BEFMNRELEERONS TN 1 —FT A2 TIERNBY—ILTT, L—TN
YOI, ROBENHY XTI,

- YBARZ—T I A ADOBEEDHF,

ATMY—ER 7ONA A —O KNS TN 1—F142 Y,
CORFIXNDTARNGE, BEOFETERILELE, REAIZpingL BASEYIBIYE
VO RBEALTVWAREBE, FERERAVNY—RAVNBTAEZ—T A RAZEALTVSE
Bk, - FEEZBEDOIP T RLAIC ping ZR{TTEET, CchickY), 1 0X3—TI(4 A
TICMP IO—ARBREICEEEN, I—ZICK>TREEZZSHET, 2FV), EBOBETE.



TNV T ZBMCLTCEAUTANZERITTER T, EICHFEEO IP 7 RL AIC ping ZEITL
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B 18 #§
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